ITI Computer Operator and Programming Assistant (Java) 1st
Year Module 5 Word Processing Software

(1). Individual in a table are referred to as N w%tr%méaaaﬁ HEIH
Hefia frarsmar 81

(A) cells | T

(B) boxes | Il
(C) rows | Ul
(D) columns | BICTH

Correct Answer : A

(2). Where does the file name of the active document displays? | WW@WWW

AT el UafRid g 82
(A) Title bar | =& Ug}
(B) Task bar | TR® TR
(€) Menu bar | A[ U}

(D) Status bar | W IR

Correct Answer : A

(3). What tab in MS Word you will use to access mail merge options? | A Aol fap eyl db

g & T oy THew 9 © frd 39 &1 SuaiT S
(A) Insert tab | 393 ¢

(B) References tab | RB=0 29

(C) Hometab | BIH T

(D) Mailings tab | AgfeiT 29

Correct Answer : D



(4). What is the purpose of gutter margin? | ex AIfol &1 G%WEHT%?

(A) Margin that is added to the left margin when printing | WWW ET\Q' ETQT&W
SIeT T’

(B) Margin that is added to the right margin when printing | mﬁha‘rmrrs‘ HYd I
Tl A A et wTar 8

(C) Margin that is added to binding side of page when printing | mmﬁwqg%

IIEFST uet A SisT War "=

(D) Margin that is added to the outside of the page when printing | WWWW%

e SIIST T Aol

Correct Answer : C

(5). What is the scale of document for printing? | fifén & ﬁl"! mﬂﬁ'{\q T Ihd HT %?
(A) Is one of the ruler options for the text | TR & ﬁl’Q’ TR TR ﬁﬁ@ %

(B) Is the level of English use in the text | TReH W%WWW%

(C) Is the zoom of the text | TR BT S[H %

(D) To be printed in the different proportional size to the document | @ﬂﬁ'{\q & fewic

UuIRAd 915w A fifle #31 & fau

Correct Answer : D

(6). How can we rectify the errors occurs while typing? | maﬂﬁmaﬁmﬁgﬁu’rﬁ
U HY SIh B gPd &2

(A) Auto entry | 3fTel Ut
(B) Auto add | 3fTel Sitg
(C) Auto spell | 3ffcl T
(D) Auto correct | 3fTcl Tgl

Correct Answer : D



(7). Which of the following is not a default document type for a mail merge? | ﬁﬁ'ﬂﬁ%ﬁlﬁ
fFad o arftwic siagde ergu gl &2

(A) Memos | AHNY

(B) Directory | STavaest

(C) Letters | ded

(D) Envelopes | Q':l'aw

Correct Answer : D

(8). Which bar contains the current position of the cursor in MS Word? | '\‘TlIUfaW ‘pkg’

TITd HA BT el e i@ d ST are?

(A) Layout | import pkg.

(B) Title bar | Import pkg.

(C) Status bar | import pkg.*

(D) Horizontal ruler | Import pkg.*

Correct Answer : C

(9). Which option is used for tab setting? | g afdnd ﬁI'E 5 fawme &1 IuanT fear
ST 82

(A) Horizontal ruler | &fereT ¥R

(B) Status bar | WY IR

(C) Vertical ruler | FHeafeR TR

(D) Vertical scroll bar | SR Thid IR

Correct Answer : A

(10). Which shortcut key is use to center the selected text in MS Word? | MS Word A Jdaiae

frd gU e I X B & fore fora xiid e &1 &1 v fpar s 8 2

(A) Ctrl+C



(B) Ctrl+D
(C) Ctrl+E
(D) Ctrl+F

Correct Answer : C

(11). To copies the selected items in open source office, which key is use? | Gﬁ'qu

ATh & AATRS et B HIU B & g foa o1 1 v fwam siman 82
(A) Ctrl+0

(B) Ctrl+C

(C) Ctrl+P

(D) Ctrl + Shift+C

Correct Answer : B

(12). The four types of mail merge main documents are N A Aol & IR YR & 89

s el

(A) Form letters, directories, catalogues and envelope | wﬁﬁzﬁ, S‘Rﬁ_cliﬂﬁ, FHean 3
Uaqdyq

(B) Form letters, envelops and mailing labels, directories and lists | w‘ﬁﬁzﬁ, sﬁw 3R

(C) Basic letters, envelops, labels and list | %ﬁwaaf, Eﬁ?ﬂ?ﬂ, daed 3R fore

(D) Form letters, envelops, mailing labels and catalogue | W\fﬁa—{ﬁ, gﬁw, AfeiT AT
3R HeaiT

Correct Answer : D

(13). Which command is used to store the active document permanently? | arrtrﬁ'eraﬁﬁ

Cack:| dg=Udl UdelR é@% %? class Paint { public void Color(int x) { } public void
Color(int x, int y) { } public void Color(int x, inty, intz) { } }

(A) Save | fafer sfaur



(B) Send | P MaralfST
(C) Prepare | fafer arftrymdt
(D) Save as | ¥ CISH dg=Udl

Correct Answer : A

(14). The ability to combine name and addresses with a standard document is called N

TP WSS SIFGHE & ATY ATH 3R UdT Bl HTaT HIA DI &0 B ST STdl
gl

(A) document formatting | @,'Taqﬁ?ﬁﬁﬁﬂ
(B) mail merge | Ad 1ol

(C) database management | CCRR-E S L o
(D) form letters | BTH ded

Correct Answer : B

(15). How many ways to create a table in MS Word? | MS Word Hgd 991 & fhaq alid

?
(A) 1Way | 1T0F
(B) 2 Ways | 2 1%
(C) 3Ways | 3 RIP
(D) 4 Ways | 4 TRIP

Correct Answer : C

(16). Which shortcut key is use to print document? | ﬁaqﬁfaﬁﬁzmﬁ%m f5a
RITdehe B BT WART fHaT TaT 32

(A) Ctrl+V
(B) Ctrl+X

(C) Ctrl+P



(D) Ctrl+B

Correct Answer : C

(17). Which of the following is not a step of the merge process? | ﬁgﬁl@?rﬁﬁaﬁﬁm

Hel Ufshar &1 avo1 181 62

(A) Preview the merge results | ﬂﬁﬁﬁﬁ'ﬁ?ﬂq

(B) Format a main document | Wﬁ?g\lﬁqﬁ?ﬁﬁ

(C) Format data source | BiHe STeT I

(D) Identify the main document | ﬁ‘lﬁﬂ*{ﬁ?aﬁ GTE@'%WI'S:WT

Correct Answer : C

(18). Which one of the following is text styling feature of MS Word? | LIk ﬁ"'\”TE{ T BIS
ﬁ, fa®t “car” B qoITdT SITEITT? class Father { public void car() {

System.out.printin("Father’s Car”); } } class Son extends Father { public void car() {
System.out.printin(”"Son’s Car”); } } public class Sample { public static void main(String[] args) {
Son john = new Son(); john.car(); } }

(A) Word fill | Father’s Car

(B) Word art | Son’s Car

(C) Word colour | There is an ambiguity, so no one Car
(D) Word font | Compiler Error

Correct Answer : B

(19). When do you use the formula for =SUM(ABOVE) in a table? | €& # 3{TJ =<SUM(ABOVE)

& oI g &1 SUahT H9 Hd 82

(A) To count entries | Ufaf¥aT A & forw

(B) To Add Number | &R Sitg1 & forg

(C) To multiply Number | TT B UM H31 & forg
(D) To Divide Number | T &1 faHTRId ®A & fer



Correct Answer : B

(20). How can you insert a sound file in your word document? | 3{TU ma@g\lﬁ?{ﬁ?ﬁ
ISS BI5d S ST IPd o2

(A) From insert > sound menu option
(B) From insert > file menu option
(C) From insert > object menu option
(D) From insert > blank menu

Correct Answer : C

(21). Which document view given an appearance as in web browser? | IECINITCOESIG

TIITH BT GHBE'QEW@TIT? package pkg; class output { public static void main(String
args[]) { StringBuffer s1 = new StringBuffer(”"Hello World"”); sl.insert(6 , "Good ");

System.out.printin(s1); } } &A1 a' ST3CYC. AT WIgel STORFEI! pkg " qﬁ%l
(A) Draft view | HelloGoodWorld

(B) Outline view | HellGoodoWorld

(C) Web layout view | Compilation error

(D) Full screen reading | Runtime error

Correct Answer : C

(22). Which key is use, when positioned at the start of a header a tab is inserted in

openoffice? | 38Y P URH H fRUd g1 WR Nu=341TpH & TP o STa1 9IdT g, ol fpa 31
ST IUANT {1 SITaT 82

(A) Ctrl + Shift
(B) Ctrl+ Alt
(C) Ctrl + Caps
(D) Ctrl+Tab

Correct Answer : D



(23). Combining two or more cells to make one is called N a‘rma‘r@f arf‘w@ﬁaﬁ
[ERICEACACEIE ko T L RS I

(A) combining | BIRTRT
(B) joining | STTST=T
(C) merging | AfSfT

(D) creating | fopafdm

Correct Answer : C

(24). What is the purpose of quick access toolbar? | ward UEVT'J CUAdR BT 3%'581 T %?
(A) To hold advance function | G'Iﬁl'qm? mﬁaaﬂﬁ%m

(B) To hold special function | ﬁﬁqm &rr!ﬂﬁrcrm‘—‘@ﬁrq

(C) To hold basic function | Wﬁmﬁ%ﬁm

(D) To hold familiar and repeated function | uRfada aﬁ?aﬁmwaﬂﬁ% ﬁ'l"'{

Correct Answer : D

(25). How will you insert chart in MS Word? | @Wﬂéﬁ 3T 91 A STAN?
(A) Insert = Shapes | S e«n?ﬁr!ﬁ

(B) Insert = Chart | gffad &3 > e

(C) Insert - Clip Art | sTal - faay 3md

(D) Insert = Picture | gffaa &3 >

Correct Answer : B



